o

Wohnfldchen :1.0bergeschoss

WE 1 (2-2ZKB) 1.0bergeschoss

-Windfang 1,473 1.5 = 1.54 gm
-Diele el G T el
1585 i 15 = 5.92 gm
-Bad 1ade e agina = 3.40 gm
=Keehen 1.8 -3 3.3
OB S =me 3
bR 0 L = 5.28 gm
-Ealkon S & x5
X 0.5 = 2.38 am
-Wohnen 3.00x 4.00 = 12.00 gm
-Schlafen 4700 320301 = 12.40 gm
42.92 gm
abzgl 3% Putz 1.29 gm
Gesamt 41.63 gm
WE 2 (1-ZKB) 1. Obergeschoss
-Windfang Toeds e 5200 = 2520 aqm
-Bad Jal ey il e = 5.04 gm
-Kochen 2.27°3% 1763 = 3.71 am
-Wohnen/
Schlafen s LS T L3518
T o R et
s ey Jabhe
330 2 18
i s Bl L anks = 27.38 gm
-Balkon 1l 8 - 108
1.8 X 13
X Oi=b = 2.43 gm
40.76 dm
abzgl 3% Putz 1.22 gm
Gesamt 39.54 gm
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